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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any seven questions from the
following : 1x7=7

weTS MR Rt srebt ems T o1 3

(a) Define ‘level of significance’.

AfFol FI'F @ i)

(b) Explain ‘confidence interval’.

‘Remcaiey Aisre o faa
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(c)

(d)

fe)

When using ‘sign’ test, if two scores
are tied, then(Choose the correct option)

Bz +R_rw T IWIS M Pl WY ¢F T,

(TS (9% et Az Bfeream)
(i) we count them

i stm e
i) we discard them

iy aw fré
(iij) it depends upon the scores

T Y PR @9t 767 I
(iv) None of the above

G9IRT OIS T
ANOVA is a statistical method of
comparing the of several
populations. (Fill in the blank)
@AMIS TR Tol IR 93
7 SMRARGST &SB! 208 ANOVA |

(AT 312 o7 77)

Define null hypothesis
e s wice foan
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)

(9)
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By reducing the experimental error,
local control increases the of

the design. (Fill in the blank)
R et ISP ST 2 IR A
oSk 3% ||

(4T 3% 23 39

Compared to parametric methods, the
non-parametric methods

(Choose the correct option)
UBTTYE GO LIS T-26eTIE AT g
(sa Bewehr AR Bfea)
(i) are less accurate

¥ AF

(i) are less efficient

I wH

fiii) are computationally easier
AHITOSIR 72

(iv) (i) and (i) are correct but not (i)

(i) O (iii) ©% % ) 77w
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(a)(B) .
~———= then the association
(h) 1If AB< YR e

%)

between two attributes A and B is
(Choose the correct option)

I AB<@I-V@ T, (U Mol o A G
B-3 TR 9% T3 (97 OG0! AR Berean)

) O
0

(i) positive
SOy

(iii) symmetric
e

(iv)] negative
NS

The probability of type Il error when
a=0'05 is (Choose the correct option)

o= 0053 IR RSN Fi7 w1 FuiRer

T TJ (o7 Teweht AR Bfvear)

() 0025

() 005

(iii) 095

(iv) Cannot be determined without
more information

wfee © AR W BfFed e Wy
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() Define one-tailed test.
-5z RS «iPFIR sicet fan)

(k) Level of significance is denoted by
(Choose the correct option)

el B Bt fat =
(¥% Tesehr R Teear)
i) o
(@) vy
i) B
(iv) None of the above

(891%] WBIS W)

()  Write down the hypothesis that is tested
in CRD.

ol o o1 e <9 TRRET
AR foradt |

Answer any four questions from the
following : 2x4=8

were AR Rzt st e Sas o s

(a) Distinguish between type I error and
type II error.

MR Rt Re e s Ry et |
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(b)

(c)

(@)

(e)

(9)

(h)

Define critical region.

TR e eoRe wewl )

Explain sign test for symmetry.
TS cwas BT AW WG 30|

Write down the uses of analysis of
variance.

wmIWM|

Under what situation will you prefer
RBD over CRD ?

AR ARTEES o) o wifommiers
Ao Ve ST SRR Tt =7

What do you mean by simple and
composite hypotheses ?

T A% Y A et gl e

State the assumptions of non-
parametric test.

G- A]TFI SSYRIPTR Bt

What do you mean by Yates’s
correction ? -

T S Y Ao R gy

\A
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3. Answer any three questions from the
following : 5x3=15

owe AR R ot e Sea o1 ¢

(a) Discuss the principal steps in testing a
statistical hypothesis.

AR ow AFR 2daw TR
SIEAGAL 34 |

(b) A random sample of 400 units from a
large consignment showed that 120 were
damaged. Find (i) 95%, and (i) 99%
confidence limits for proportion of
damaged units in the consignment.

I GB1 IR TRBA *1F =1 40051 (aifs]
D! o eifomfs 12061 &N (ol 2o | S
Ol G GANST (i) 95%, WIF (i) 99%
Rl ST Ref s

() Write a note on the basic principles of
experimental design.

gy wfwsr G Nfevrpm Raa o
CBRet ot |

(d) What are the conditions necessary while
applying 72 test for goodness of fit ?

SIFER (10Y 12 Sl ECe B R 5 W
5o @t ¢
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(e} Describe how the goodness of fit can

(g)

be tested by using y? statistic.

2? fonfeR qRIl RS g G SIS
7« 3 ==

In a randomised block design, there
are 5 treatments and 4 blocks. Explain

the principle of randomisation of
treatments in these blocks.

o e AT GBS 55 TobR Wi 451
48 AR TpRTE Rfen e MR
IS Jrgt 34 |

For a 2x2 contingency table

G 2x2 SR AT AR

alb
cld

show that .(Cﬁ?{\'im Q)

2 _ N(Cld—bC)2
(a+b)(c+d)(b+d)(a+c)

where (q’tﬂ—) N=a+b+c+d.

3 (Sem~3/CBCS) STAHG/RC/G 8

(h) An experiment was conducted to test 5
treatments A, B, C, D and E in 4
randomised blocks. Write down the
analysis of variance table.

431 30 4 AR ST GBS 5T BolvR

A, B, C, DSIi$ E “I{7% 331 (22| E 2=
Rotme 1= =41

4. Answer any three questions from the
following : 10x3=30

wee MARRR feicat fofist e Bea B

(@) (i) Fill in the blanks of the following
table : 5

T il RIS QT SRR et 3= ¢

Source d.f, Sum of squares Mean squares F

B wewmwa ¥R e 4% F

A 4 — —_

B ) _ —
Error (&) - 0-137 —_

Total (%) 14 -

—

—

(i) What is randomised block design ?
State its advantages. S

s Qo Sfow B2 T ARaeEg
TrE 9|
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®)

()

(d)

(e)

Discuss the analysis of variance of two-
way classified data.

B-(ft Ree oI oo Regs Awfe!
GG 34 |

Derive Wilcoxon two-sample test.

wo! &feT IR Wilcoxon “SIts! 3ft 3541 |

Write down the mathematical model of
completely randomised design (CRD).
Mention its advantages and
disadvantages. 2+4+4=10

O 1o GRS IR 71 SN elfowo)
ferl1 =y Ao =iSre RYPE e
ePIRUPTE Raw fori)

What are the advantages énd
drawbacks of non-parametric methods
over parametric methods ? 5+5=10

WIS RS S-25eTY R el o
SRarR &2
() What is analysis of variance ?

What are the basic assumptions
associated with it ? 2+3=5

¥R R &2 SR oo TS I
SfeqRarmR & e
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(@ )

(h)

(ii) Set up an analysis of variance
table for one-way classified data.

S
G-I Reiftrer 2pRy Redge it
G2 UGS I |

What do you understand by local
control in design of experiment ?
What way does it increase the
efficiency of an experimental
design ? 2+3=5

R ST N Regd P B
T ? GRANSOIR 7% SfmmR ol
GRS MG 7w 2

(i) Write a note on experimental error.

5
iR & R sats frn

Let p be the probability that a coin will
fall head in a single toss in order to

1 .
test Hy: =-§ against Hl:p=% X

The coin is tossed 5 times and H, is
rejected if more than 3 heads are
obtained. Find the probability of
type-1 error and power of the test.
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@ A p= I8 (7ik TR I© Hy, : p=%

T lep=%aﬂ@wasﬁammqmms

3} Frwel A L5 9% IMR 3 IO AR AT
18 (RN TN H,F Tl 30 231 cofomt 2=

type—1 T3 TEIRS! S SISO Tl ey
91|
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